E BRI R (VNFAR)

LA -/

MB<h

vy

AIAIBMIDOL FITEFET S &L,

AN I Ltz 3 DIFRICHEILICEISZT 5 Lo

EEIIREREZES

= 3LF~ (keal) 602kcal " 725kcal 6 | 8kcal 607kcal
OROHB (A) YT 1A 1B (&) 2hig l1A58 (K) 293 l1A6R8 (K) 22.4g 11 A78 (K) 23.6
| SERING)) SERING)) SERINGE) T
‘ ZlIA FLIITIIA A _|zra .
TAET ZIEBCADS LN DY SHT —R—F\W2ZA bl ey TE Ju
/_(\/'\/‘\ L{VWVENAZLS NLB $5TDHYZY ";{\; FoRVYDTEHA 8.
= ERg FRE (o] REDO A= 333 BREQ)|" 323 FRE ()" 23 BRE ()" ERA FRE(Q)
= Zeals |43 KA ESCBEE L ESCHEE L ESCHEEEE [ES
49, kA )/ EES 80.0|& [* 70.0]& [* 80.0[& [* 80.0
W R[S EIF 25.0)7# |YaLg—~xR—a> 5.0|#& [3E=3>F 15.0l#& [¥YA 35.0
BRILICER L TWS RS ™ (eI F 25.0|% |*¥oF 15.0)4& | K18 49.0 DEZAIRL 15.0
LRHFELTVIT, 7 (HH) OE-RHn #% |ICACA 22.0)4k |STHILKDHA 20.0l7#F |E#HS 40.0|%F (X4 1.0
SEZAITRL 30.0|& [*@ 0.1|#& |IcAtA 17.0 N 1.0
| | "o EILBbYIch 3 & [LedY 1.0 YYolLLHw |.5|#% |<3NTE 33.0 N = NP S 17 1.0
Z|TPVATA 5.0 HYA 1.0|#&& |\ (K&E) 8.0[#& |ld<Tw 55.0
wERE (3 4FE4E) OB w.P # | Lo 1.0l [tV 60.0|4%& |Eh¥ 3.0l B9 2.0
<7, < SFOLeIP 1.5|#& [1cal< 0.3|%& |L&H2 % 0.6/ |rihx 25.0
2 3 B vwalsrw 3.0l [LLHA 0.41%% [lcal< 0.2l |B=E8 30.0
FFEE MR @@@ B ol [proLese 2.7|% |xom 0.5l |®hx 6.0
— HY A 1.0 Zvwalsyv 0.71& (=& |.5|#F |=B¥E 3.0
% |EfaE 80.0 o “ #H |GV (IFEITE) 23.0 18 ] 0.2 zvwalsHw 2.0 cvwalsivp 5.0
& |IcAth 10.0 N Iﬁ & |IACA .ol | %‘ﬁiﬁ l.o|] [& 0.5 [3¥aLLHw 1.0
% |Eh¥ 18.0|# |HAEH 12.0 FNYS 0.5 i 1.0
' ‘f% AR 17.0]% [ 8.0|# |#az 7.0l |#Y4 0.5
BEYOZBHITFEZNTVET, & |®hT 3.0|#& |3 A 15.0 VPS4 0.03|#% [Fr~Y 28.0
7w [(fEMNAZ 8.0|#% | KR 28.0|#& | & |.O|#& |SE>R(AEERE) 1.0
F KkESBLMD, . - Hl') &b 2.0|# [IALA 1.0 K 20.0|#% |IcALA 6.0
ik i ; o Vi K 100.0)%& |15 g8.0|# [@a—=/a4 8.0|% |LaE 1.0
z{ rﬁiu{ajiﬁimzéﬁm = "’ RZANRL 10.0|# |&® 4.0 :L\DL;’)VD@ 2.0
S SAL-EL2N Y - % |EhT 3.0l |Fv~vy 33.0|% |¥Yz% 1.0
*BRBAOHIC, EORO 1Y) 5 2.0l |izata 6.0l (2w 0.5
TIL—20BNMNEL T ST, = ol |Las sl | ‘
—— w [fEMAHEZ 8.0|#& |LB* 1.5
‘ ‘ = | K 100.0 zvwalsedivp 2.5
(3 2.5
HE)nERHD Z(ALY)DERBD # |3 1.5
t;tt%(Bb‘Bo)m:k&% ( "oEDLELILELLDAS
) S —
PEKIFL) I TR MR
‘ @ FEEER LR ERDIFELIFER
BEOTT— 2V FELE 3R
@ RS EAIIGRIEN A2 —DY,
—— @ ) JIZRAMAEBYLTI | BRI
‘ \’éi?zbi?'o
I
605kcal 588kcal " 608kcal 6 | 2kcal 606kcal o 64 | kcal
|1 B8R (&) 3T7g l1A11B8(A) 533 11E 128 (K) 532 1138 (K) 53.0 1B 148 (K) 57 | 1B 158 (&) 549
Tl Tl TP FpIIn) T FpIHIlu)
L&LlrY> IDFVWETIZA ZlIA ZH RN ZlIa HHrrdTITA
FBEDTUITL—2R LA LN EFARYDLEZI LW EDH|I— bR/ T4 NI EEWZADIIOT IHLHLESLLEIDPHUT
RThR=7 Y3 FIFZNTILLS TWEA RT3 EIIpIHZLS ABCR—7
= BR% B & (9)|7= R B & (9)|7= BR2 B E ()= BR% B & (o)) BR% B & (9)|7 BE% EAE(9)
& |FH KA ESEREEE G ESEBEETEE ESCHEE L | A #F |42 8A ESCHEE L ES
# |&/%(809) E{ESES 70.0|& [* 80.0|& [1® oy~ (409) L& ESES 80.0|& [* 80.0
#* (<3 (ATY) 60.0|& [*->Fuvi(FEERTE) 38.0|#% [V A 30.0|& (R 7« 25.0|# [ A 30.0|7 |MREAHDHAD 2.0
% |LLHDps . -1 <7 0.6)# |L&LHn® 0.5|7% (43I>F 10.0)#& |xru\t (FEHERTE) 15.0|7# |¥+5 (509) [R5]
i 2.0 i o 1.0 i 1Ol |3 =3+ 20.0|%& |X4R 38.0|# |K &% 9.0
# R &Y 10.0]7#% [Y®A \_ 30.0 zvwalsHv 0.5|4& [IcALA 21.0)4% [IcACA | 1.0]#& |*:mh 5.0
& |kl 8.0 R AL 5.0 |F+_V 23.0|% |=3h¥ 43.0l%% |XXVAITA 5.0|% | L@k 4.0
T7Fev 7 q9.5|%% [IcALA I1.0)#& [zFHhF 23.0)4% [L&LHD® 0.6 AN w F N 317 2.0l |LECEH 2.0
T VA 1.o|l& |213) 22.0|#& [IcACA 16.0)4& |IcAl< 0.3 P R=1WS1) 1.0 zwalsdvp 4.0
HwIA> 0.5|% |[~=1FnZ (k#E) 10.0 250 .0l |to— 3.0|# |=iB#E 1.0 K 3.0
# | LA 2.0|7%& |x2FHIS 10.0 walsHwp 2.0 |=vyal—La(kE) 5.0 AHY A 1.0lx [vansg—~—a> 5.0
(a2 F—(6mAvh) 10.0|#& |=:E¥E 1.2 i 2.0|#% |/t (8) 0.05 b |.0|#% |ABCwAo= 5.0
B |Cop VD (FEEETE) 33.0 zvwalsHvp 3.0|# |La 2.0l |F= T AR (k&) 5.0 Bl ) & 0.5|4 |F+~V 33.0
#% [ICACA 1.0 i 0.6 HY A 1.0 T7Fvw S 18.0 K 10.0|# [IcA LA 1.0
% |f-Eha¥ 22.0 &Y A 0.6|# |k 0.5 MRI—Y—2R (o] E I DS 10.0)#& |=3h* 21.0
& |Hr—La—: 5.0]& |[* 0.5|#% [3A 10.0 38 0.3|% [IcAtA 8.0|% |to— 6.0
% |toy— 5.0 K 18.0|#& |K#& @ 23.0 2L4S 0.03|# =3 ¥ 28.0 STalsHv 2.5
% |3t () 0.05|# [nFIxZ 10.0)4% |lIcA LA 6.0 R7A> |.OJf&E |FvY 17.0 18 0.3
4 0.3|% |IcALA I1.0|#& |=3H* 13.0]& [Crp\E 55.0|7# |[s@iBiS 5.0 2L49 0.03
2LgS 0.03|# |=3h¥ 23.0 R AATRL 10.0|#% |=3hE 8.0 |Eh¥F 3.0 a7A> 1.0
R—TR—2FF> 5.0|# |E/& 20.0|# |EnF 3.0l |IcAta 7.0|#% |29 SOY 20.0 o—')T 0.0l
IYFalLivp 3.0l |FEhF 3.0|& |"hE# 10.0 18 0.2|#% [(EM&HZ 6.0 R—=FR—=2F %> 5.0
K 100.0 57alsedHvp 3.0 K 8.0 2L4S 0.0I|# |Ba&% 3.0 K 100.0
HYV A 0.5 HlY) &6 2.0 {3 1.5 HY A 2.0
b2} 0.3|# |fEMaz g.ol& |/>zvrwax— 8.0 K 80.0
HlY) &6 1.0 K 100.0
AN (ELA) 0.3
7K 100.0
55 oL 2
TS IZEFIN 3
1) 7 T X MR 3L




6| lkcal " 6 | 4kcal 595kcal 608kcal P 660kcal
I1AI188 (A) 252 1R 198 (K) 9.0 1 B20R8 (K) 2T.0 I1B218 (K) 25.0 |1 B22R8 (&) 25.4g
TpHIIp) TpHIIp) TFpHII) TwpIHIlw) T
ZlIh kA I8 A A
2EOREBHOBITDZIEZHANF|IAZTLCE N 5pINLADS TiIFoLHReE
FoRYDLEVHA ZlEwzAnToLo MELL ST b2 VLEDWVSHIC
LS|t 3s ADELhHHOTELLS
»H B FRE(9)|=E BRd ERE(9)|= R ERE(Q)| = BRd EIEEAC) B Bht FERE(9)
7 |49 8RR | K| |43 &R | K| |43 &R | K|35 |43 &A | K| |43 &RA | &
EHES 80.0|#% |* 80.0|% [3/L7/% (609) RE EJES 80.0& [* 80.0
|33 F 20.0|# [ YA (509) Ll [91>+— Qv k) 15.0|7# |3\ =" 25.0# [*1£ (—3%-509) | 7]
7 B8 70.0)#& |IcalK 0.4]& |Led W\t 34.004% [LLH 2 0.3|7%& [ = (3) 2.4
5% |3t 43.0)4% |[LLHA® 0.8[|#& |IcA LA I 1.0]#& |1cal< 0.2|4& icata 6.0
# [ICA LA 16.0] [zvalLLHID 2.2|4& |3 22.0|#& %5k 0.6|# |HHF 5.0
%2z 13.0] |’ 2.5|4& [ ¥RV 17.0|% [lcA LA | 1.0|#& [=:B¥E 1.6
FILLHID O.5|# |k &% 8.0|#% |tun')— 6.0|#% [=F4F 22.0 walsivwyp 2.4
# | Lak I.5|#& |k 8.0 |& k@@ 0.3[# [1a<x v 45.0 K 8.0
& 0.2)4% | KB REEHET ) 32.0 ZL&D 0.03|#& [BL 20.0)# [IcA LA 1.0
zwalsHiw 2.0|7 |Av bbb (8) 1.o] |D¥BalLsHv |.5]% [Lu 7z 3.0l |AnEr13 8.0
SE R=IH1) 3.0|5 |BYBHAL®Z 3.0l |[@—-v=x 0.01 2=} 0.5|7 [y bhh o (8) 0.3
A A 2.0 IFalLiIvp I.0 2A=—TR-F*x> 5.0 L&D 0.0 I|# [F=F4F 27.0
pi| |.0|& | LakE 1.0 =NE % 0.5 A—=TR=2F x> 5.0)4% |ELT 3.0
" | hEYH 1.2 i3 2.0 K 60.0 zwalsHvp 1.0 dFalsiv 3.0
HiY) &h 1.0 b1 0.2|# |35 7.0 d3FalsiHiv 1.5 B4 A 0.5
K 20.0|7# |3 A 10.0]# |IcA LA 11.0] |I& 0.3 & 0.3
& [FrxY 38.0|# [THFwv 18.0|4& [+~—La—> 4.0|& R E#%H 1.2 HIlY) & 1.0
5% [lcACA ~zh, 6.0|% |IcA LA 6.0|# | ¥+ I 1.0|& | kv 20.0 2AS(EELA) 0.3
N = Y% 2.0|4 |3 12.0|#% [=:B¥E 0.8]# |V A 15.0] |[xk 100.0
FILEVEMT 0.5]# (LAt CEERTE) 18.0 b1} O.17 [(BRER)LET 22.0
# | Lak 0.5 R AL 5.0 [i{3 1.0)4& [IcACA @@ 6.0 /’ \
@ |gEnr 30l® |/vryrean—x 6.0|% |Ehx <> 30|/ FENA
i [fEMAZ 8.0 & |3 22.0 1 B2481XT\W\B A
H ) A 2.0 RA—=TR—2FF> 40l &, pE2abEC 0
A 100.0 Twaledw 'Ol marsiEsnE LA Ao
IFalsLiIvdp 3.0 R - -
- 0.2 BT xR 2ERLE
BEDHDHRIL D) 0.02 EILEFEINTVET,
BARZEHVLWHOHLY K 100.0 ‘
AP,
— )
608kcal " 6 | 2kcal 679kcal 559kcal R 6 | 4kcal
|1 B258 (A) 242 1268 (KX) 27 5g 1 B278 (K) 2219 |1 B28R8 (K) 227 |1 B29R8 (&) 30.9g
T FpHIIn) FpHIIn) Tl Tl
SLIAZHERY R 9% UFEZIZA Fr—/\> A
I2)—=bLT 59> vl 1K BERRHED ELELFFUHL— bhhhra—>nH549 DOENDWERHIS
AVIAR=T v BlzEoay 2)L—y3a—=7ILk IKEATHR—T 12 HEKEAAZLS
b D-N\W LB
2 BR4% EAE (9| BR ERE(9)|= BRL FEEC) B BR4 EAE(9)|= BR4 A E(9)
7~ |45 8RR | R4 |45 &R | K| |45 &R | K| |43 &R ESPIEERE L ES
# |EE/NE/ > (609) HE| & |k 80.0|# [* 80.0|# ¥ 70.0|# |* 80.0
A LR 15.0)7% [0EbYiE 15.0]% | K& 5.0|# | =K 15.0]% [»—>8 (ATY) 60.0
% |rmEhaE 33.0|# [43I>F 15.0|7# |[¥ YA 30.0|4% | =¥ 22.0)%% [LLH2® 0.5
# [eAHn=(zL) 10.0|5 |3 =3+ 10.0|& |#)—7%1L 1.0|#& |IcA LA 11.0] [& 1.0
% [ICA LA 6.0|4% | =2 27.0| |F71> 1.o| |[& 0.3 N =17 1.0
18 0.2|& |#Enx 3.0 & o.1] |zLe3 0.01|& |kER - 50
L&D 0.03[|# L&Y 0.3 L&D 0.03 A w P17 |.O| & [kK& 6.0
# |Kh 0.3|# |IcAl< 0.3[|# |IcAl< 0.3|# k& |.0|% | La¥E 2.0
#® [/hEWH 4.0l& |25 [.O)4& |L&S5AS 0.6l |x—La—> 25.0 zwalsHvw 1.7
& [Ny — Tt 4.0|& | LatE 1.0] |HL—% 0.8|# |hv b h e (82) l.OJ#& |L&HD® 0.2
& [F 5 30.0|# |F&az 3.0|#& |=3h¥F 88.0|# [m—=2/\4 5.0 [#Y4 1.0
-1 0.3 N =17 2.0|% [IcALAa 27.0|& |LBa¥ |.0|7# |&nY 0.1
2L 0.01 i 1.0|& [CoA vt 44.0 |BE 1.0]& [Coh 33.0
# |ESRF—X 8.0 [rovTer 0.03|# [t — % 2.0 |PvolLsi9 3.0 | =3 23.0
wAvT | 12 (3 0.5|#% VAT 6.0|%® |4 1.0 R ANTRL 10.0
i [alLyg—~—a> 5.0|7% [F5=nY (&) @l [Frvx ' 4.0l#% |3 =30 F 30.0)4& [IcA LA 5.0
1 | Fr Y FEERTE) 22.0)5 |3z 20.0 o—'z 0.0 |#& |=F4aE | 1.0)4% |t s 3.0
% |3t 22.0|& |Tevd 20.0| |2arvvinzg 3.0|#&F L& 0.8]|# [fEM &% 8.0
% [IcALA I 1.0)% [IcACA 1.0 18 0.6 IFalsiIvp 0.5 HIlY) & 2.0
% |R—iLa—> 5.0|4& | AR 22.0] [zvoLssw 2.0|#& | K &R 1.5 |XK 100.0
% /3t (82) 0.05)# [Z13) 1.0 MRY—)—2 1.0 & 0.2
dgalLHiv 2.0|# |ERF 3.0 AV —2R 2.0 L&D 0.03
A= R=2F %> 5.0 zwolsHvp 2.5 TFvy S 5.0|# | &M 4.0
& 0.3 [HIVES 1.0] |R=TR=Z2F%> 10.0|#& |Fv XY REEETE) 33.0
ZLs) 0.02] |2AN(FELA) 0.3|#& k% 5.04 [lcAtha 6.0
K 100.0] |*k 100.0] |xk 40.0[# |L\ 21t 4.0
® | & 05| |/ 1> & 15.0] [& 1.0
8 0.4|% |V &E 10.0 37olsH 2.5
% A AE 25.0] |#& 0.4
& (2= L (o) 30.0| [zL%5 0.02
vLEYOYS 5.0 |x 100.0
——
%ﬁ T AR
') T 2 MERIL




